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EH-168
B.E. II™ Semester (CGPA) Elect. & Commun. Engg.
Examination, 2019
Engg. Mechanics
Paper-EL - 204

Time: 3 Hours] [Maximum Marks : 60
Note :- Attemnpt all questions. All questions carry equal marks.
1. (2} Define the term resultant of a force system.
(®) The magnitude of two forces is such that when acting at
right angles produce a resultant force of /20 and when

acting at 60 degree produce a resultant equal to /33 .
caluculate the magnitude of the forces.
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2. (a) Whatisaﬁanmdmwtmt.mﬁlcﬁrnssmnpﬁonmadt
g “ﬁlcmﬁngmmnlydmfﬁm:dmm.
(b) Determine thcreacﬁonsmﬂﬂwfmvcsinmunhf:rshﬂ
AE and CD of a simple triangular russ supporting twc
loads as known in the given figure.
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3. (a) Define radius of gyration. How is it related to moment of
/ . 5

(b) Find the momentofinertia of a rolled mmmof
symmetnical | section. shown in figure.
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fweight 100 N rests 0n a rough hﬂrimma]m_

body © .
(b) 4D byaforccapphedaan

_AL j<— SCJ"‘"‘JI ~—3i p=0_3)mdisal:tcdupon

| :‘t ' :::li of 30 degree to the horizOI’:taJ- What force ispe.
) e quired to just cause the body to slide over the surfag,
: OR
sem 6. (a) Giveabriefdescriptionofthe various types of belts sed
for power transmission.
| "g:r é:r (b) Define the epicyclic gear and compound gear train with
——I f § neat sketches.
OR g g 7. (a) Write the impulse - momentum equation and mentionit's
4. (a) Define the centorid and centre of gravity. % %: applications. et/ www.onlinebu com '
" . £ 3 () A ball of mass 2 kg moving with a velocity of 3 ms.
(b) A rectangular column of section 30 cm x 50 em and height 2 - implinges directly on a ball of mass 4 kg at'rest. Afer
4 cm is centrally cast over a concrete bed which mea- = = impact, the 2 kg mass ball come to the De J'
sure 3 m x 5 m and thickness 40 cm. If the mass density e velocityof 4 (e bl e s, rest. ten@e
of concrete is 2500 kg/m” calculate the mass moment of ofestituton bevwoen g gand the coefficient
inertia of the column and bed cobination about a pole. e two balls.
$ (&) Define theterm friction. Diferentiate betwoen the siding 8 () State the differeny OR.{
| " androlling friction. Stages in the phenomenon of colljson.
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(b) State D' Alembert's prainciple. How iy i applied in sq)y;
the problems related to the dynamics o

9. Draw the SFand BM diagrams for given cantilever beam and

locate the position of the point of contraflexture
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10. Draw the SF and BM diagrams for the given simply supported
overhanging beam. -
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